CONTRACT MODIFICATION NO. 3

Wisconsin Department of Transportation

Project 1060-25-77 (core)	Federal I.D.	County Milwaukee	Prop Date
Name of Road North 13th Street to North Plankinton Aven	Highway 1H94/USH 41. 1H43/USH 41, 1H794		
Contractor City of Milwaukee Forces LFA			

The acceptance of this order by the Contractor and its approval by the Division of Highways and Transportation Services of The Department of Transportation shall constitute a mutual agreement as part of the original contract binding upon both parties in the same manner as though the essence of the order had originally been included in the contract.

ESTIMATED CHANGE IN PRESENT CONTRACT

Group	Item	Increased	Decreased			<u>C</u>	Contract or	Increase
Code	No.	Quantity	Quantity	Unit	Item Description	A	Agreed Price	or (Decrease)
	90005DP	8		EA	Install A31 concrete pole, A31 clamp,		\$1,865.56	\$14,924.48
					250 watt, 240 volt Milwaukee Lantern Bracket and Milwaukee Lantern 250			
					watt high pressure sodium lamp			
					(includes riser lamp)			
	2000551			EA	Install Metal Cabinet	 	\$35.64	\$285.12
	90005EL	8					\$16.04	\$352.88
	90005EQ	22		EA	Remove wood, concrete, steel, or aluminum pole			
	90005ER	3		EA	Remove primary or secondary riser		\$5.23	\$15.69
	90005EX	12		EA	Installation of 15' steel bolt down pole		\$5,185.06	\$62,220.72
	on the state of th				with decorative base on existing			
	***************************************				concrete base and 70W/240V harp with			
					70 watt high pressure sodium lamp			
					(includes riser cable)			
	90005GT	4	The state of the s		Installation of 30' steel bolt down pole		\$7,007.44	\$28,029.76
			www.		with decorative base on existing			
	1	-	***************************************		concrete base and 250W/240V			
					Milwaukee Lantern Arm, and Milwaukee			
		***			Lantern with 250 watt high pressure			
			ļ	 	sodium lamp includes riser cable	-	\$1.52	\$4,924.80
	90030B	3240		FT	Install 3#4/1#8 LTP underground cable	├		\$4,924.60
	90030D	120		FT	Install 3#8/1#8 LTP underground cable		\$0.68	
	90030S	1920		FT	Remove overhead line wires	 	\$.05	\$96.00
					SUBTOTAL EXCLUDED COSTS			\$110,931.05
				<u> </u>	SUBTOTAL LABOR COSTS			\$22,465.31

Net \$133,396.36

If NEW Project(s) and/or Group Code(s) are being added to the subject contract, list:

If the west officer(s) and or croup cor	de(3) are being added to the adoject	O C X X X X X X X X X X X X X X X X X X		······
Project ID	Group Code	County	Federal Funding Type	Urban/Rural
	· · · · · · · · · · · · · · · · · · ·			

The contract in effect between the above-named Contractor and the State of Wisconsin for the performance of certain work on the above project shall be changed in the following particulars.

	Accepted for CONTRACTOR	
	X City Engineer	9/10/07 (Date)
	x Wikhell av Comproller av Comproller Comproller	9-11-07 (Date)
	Approved for DIVISION OF HIGHWAYS AND TRANSPORTATION SERVICES	
	X(Project Manager)	(Date)
	X ————————————————————————————————————	(Date)
	Approved for FEDERAL HIGHWAY ADMINISTRATION Participating Nonparticipating	
	X(Division Administrator)	(Date)
prepared for: BY: Entered on Estimate By: Date:	CODE	PERCENT

APPROVAL/JUSTIFICATION RECORD

FOR CONTRACT MODIFICATION #3

Project I.D.	Federal I.D.	County	Highway			
1060-25-77		Milwaukee	IH94/USH 41. IH43/USH 41, IH794			
Name of Road		Prop Date				
North 13th Street to North Plankinton Avenue and West St. Paul Avenue to West Wells Street						
Contractor						
City of Milwaukee Forces LFA						

3

	.,		· · · · · · · · · · · · · · · · · · ·	3			
Category	Item	Quantity	Unit	Item Description	C/	Contract or	Increase
Code	Code	+/-			Α	Agreed Price	(Decrease)
	90005DP	+8	EA	Install A31 concrete pole, A31 clamp, 250		\$1,865.56	\$14,924.48
				watt, 240 volt Milwaukee Lantern Bracket			Name
				and Milwaukee Lantern 250 watt high			
	ļ			pressure sodium lamp (includes riser lamp)			
	90005EL	+8	EA	Install Metal Cabinet		\$35.64	\$285.12
	90005EQ	+22	EA	Remove wood, concrete, steel, or aluminum pole		\$16.04	\$352.88
	90005ER	+3	EA	Remove primary or secondary riser		\$5.23	\$15.69
	90005EX	+12	EA	Installation of 15' steel bolt down pole with		\$5,185.06	\$62,220.72
				decorative base on existing concrete base			•
				and 70W/240V harp with 70 watt high		•	
				pressure sodium lamp (includes riser cable)			
	90005GT	+4		Installation of 30' steel bolt down pole with		\$7,007.44	\$28,029.76
				decorative base on existing concrete base			
				and 250W/240V Milwaukee Lantern Arm,			
				and Milwaukee Lantern with 250 watt high			
	000000	. 2240		pressure sodium lamp includes riser cable			
	900308	+3240	FT	Install 3#4/1#8 LTP underground cable		\$1.52	\$4,924.80
	90030D	+120	FT	Install 3#8/1#8 LTP underground cable		\$0.68	\$81.60
	900308	+1920	FT	Remove overhead line wires		\$.05	\$96.00
				SUBTOTAL EXCLUDED COSTS			\$110,931.05
				SUBTOTAL LABOR COSTS			\$22,465.31
				Total Estimated Change			\$133,396.36

Prepared by Thomas R Man	he Title <u>Electrical Engineer</u>	Date_Sept 10 2007
Approved by	Title <u>City Engineer</u>	Date 9/10/07
Approved by Michael & Jon	Title Comptroller	Date <u>9-1/-09</u>
Approved by	Title*	Date
Approved by	FHWA * *	Date

\$10,000 or less......Project Manager

\$10,001 to \$25,000.... Team Leader

\$25,001 or more......Group Manager

Page 1 of 2

^{*}Appropriate DOT Level of Authority

^{**}Required if subject to Federal oversight and if over \$50,000 or change in scope/intent.

APPROVAL/JUSTIFICATION RECORD FOR CONTRACT MODIFICATION #3

Page 2 of 2

1. Proposed Change Involves:
Installing temporary overhead street lighting facilities.
2. Change Justifications:
Proposed construction of West St. Paul Street from North 4th Street to North 8th Street, was not included in earlier contracts.
3. Consequences of Non response to Contract Modification:
The roadways in the area of West St Paul Avenue will not be lighted, causing a public safety issue.
4. Alternatives considered to accomplish the Contract Modification:
None
5. Justification of Price:
All Costs were prepared using the 2004 Agreed Unit Prices.